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AAMINATION FOR LIMITED DEPARTMENTAL COMPETITIVE EXAMINATION
FOR TELECOM MECHANICS

THVE - 2 V5 Hrs

fﬂSfEUCTﬁOHS . The single Objective Multinle-choice paper comnprises o Two Sections each of 50 marks © Fach Section

contains 50 gquestions of One(1) Mark each. There is negative marking and {or each wrong answer, ¥4 (.0 25%) Mark will he

deducted for that question, Put the tick (V) mark agamsl option for correct answeor,

QECTION-1 : MATHEMATICS and GENERAZL
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Find the value of 3x + 4y if x=5, y=3

A, 25 5. 27

£
ot
-

0. NONE , B
3. Find 20% of 45

A, 10 B. 20 .0 . 25 1]

(P

4. The population of Chennai has increased from 80 lakhs to 1 Cr. Find the increase percent i its population.

A 25% B. 20% C. 50% D. NONFE 1 Al

A

Neeraj's salary is 15% more than David’s salary. If David's salary is Rs.10000, find the salary of Neeraj.
A. Rs. 15000  B. Rs. 20000 C. Rs. 13500 0. NONE C]

b. Area of a rectangular field with 10m lereth and Sm widt) is
A. 30 sgm B. 50 sgm C. 2 sgm D, NONFE B

/. Find the perimeter of a circular ground with its radiis cgual.to 7m.

A, 44 sam B30 m T 44 D. 50 m ]

5. Sum ot all angles of a Triargle is

A, 360° B. 180° C. of . NONF B

O

Find the speed of the train if it travels 420K in 8irs.
A. B0km/h B. 50Km/h C. 200Km/h D 80Km/h A
0. Aman walks for 30mins at the speed of 10Km/h. How much distance does he cover 7

A, 10Km B, 15Km C. SKim . 20K |C]
11. A telephone was purchased for Rs. 350 and sold for Rs. 225 Find the loss.

A.  Rs.200 B. Rs. 150 SO S AR D. NONE | . 1C]
L2 Amanlooses 10% by selling a watch for Rs.620. Find the cost price of the watch

A. Rs.700 B. Rs.500 . (. Rs H00 1, Rs. 570 ' 1Al
L3 Vikas bought a mobile handset for 255000 and sold it for Rs.6000. What is the percentage gain ¢

[—

AL 30% 3. 15% Coinvs D, 20% D]
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20.

27.

28.

29.

30.

An Electronics dealer bu'ys a radio for Rs.450 and spends Rs.50 on its repairs. If he sells the radio fo:

Rs.600,find his profit percent ?
A. 50% B. 20% C. 30% D. 10%
Find the simple interest on Rs.500 for 4 years at 6% per annum.

A. Rs. 100 B. Rs.120 C. Rs.200 D NONE

In how many years, will Rs.4000 amount to Rs.5000 at 5% per annum 7

A. 5Yrs B. 4Yrs C. 10Vrs . NONE

Rs. 1500 amounts to Rs.1800 in 4Yrs. Find the rate percentage.
A. 10% B. 20% C. 5% . NONE
In 20005, what is the tface and place value of 5 respectively ?

A. 5and 500 B.5 and 5000 C. 50 and 50 D. 5and 5

FIa
]
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The place value which is immediate left and immediate right of “ten thousands’ nlace respectively is.

A. lakhs & thousands B. crores & iakhs C. hundreds & thousands

There are 5000 males and 3490 females in a village. What is the total nopulation of the village.

A. 7990 B. 8490 C. 9490 D. NONE

If one dozen note-books cost Rs.42, find the cost of 5 note-books.

A. Rs. 25 B. Rs. 27 C. Rs. 17.50 D. Rs. 19,50

4 men complete a work in 3 days. In how many days one man will complete the same work ?

A. 4/3 days B. 9 days C. 12 days . NONE
Cost of 5 pencils is Rs. 25.50. Find the cost of 4 penciis.

A. Rs.20.40 B. Rs. 21.40 C. Rs. 20.00 D. NONE
Square Root of 225 is.

A. 25 B. 35 C. 15 D. NONE
Find the average of 3,6,9 and 6.

A, 8 B. 7/ C. 5 DR

A Cricket player scores 13, 0, 19, 17 and & runs in different matches. Find his average score.

A. 7runs B. 11runs C. Z3runs 0. Y9runs

D. NONGC
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The average of three numbers is 9. I the average of first two numbersis 22, find the third number.

A, 5 B. 9 C. 3 L. NONE
254 millimeters is equal to

A. 10 inches B. 50 inches C. 10 teet D, NONE
It height of a personis 5 2”7 and his height in centimeters is 7
A. 157.48 B. 150 (.. 587 1. NONE
Speed of light is ?

A. 300Km/sec B. 300000Km/sec . 10Km/ser 5. NONE
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. A family consumes daily 21 and 250m! of milk In 2 week, the family will consume ?

A. 15l and 500m]| B. 10ilitres
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. Pot A contains 2kg 750g of gold and Pot B contains 450g of goid. How much total gold

DOts ?
A. dkg B. 3kg 200¢ (. kg
There is 9m of cotton cloth available. David cuts 1m 79¢

others ?

50m| D. 15t and 750m|

D NONE

D]

's availlable in

_L.JJT

S0TN The

m clothes for his shirt. How much cioth is left for

A. NONE B. 1cm C. 7m 21lcm D. 8m 21

A. 12.25m B. .25m ~. 1.75m

A. 5hrs 45mins B. 4hrs 45mins C. NONE

A. 8hrs B. 8hrs 30mins C. 8% h

A. 220V B. 200V C. 440V

would be.

B. 192 amps B. 8amps C. 3 amps D

A. 50 ohms B. NONE C. 75 ohms D

A. 10 ohms B. 45 ohirs C. 15 ohms b

A. 160 ohms B. 40 chms C. 10 ohms "

resistance, what is the current passing through each res

B. 2.5 amps B. 5amps C. 50 amps D

Mr. Murugan travelled 3hrs 15mins oy plane and 1hr 30n

When two resistances of 10 ohms are connected in Series

. NONE

[D.2hrs i5ming

Hari works at his office from 10AM to 6.30PM daily. How many hrs does he work in the office 7

'S D. NONFE

D. 400V

NONE

T'he total resistance when 15 ohms, 25 ohms and 35 ohms resicta nces are connected in serjes is.

100 chms

Find the total resistance when 15 ohms and 30 ohms resistances are connected in parallef?

NONE

Find the total resistance when four 20 ohms resistances are connected in Daraile! ?

NONE

istance ?

NONE

resistance, what is the current passing through each resistance ?

A. 2 amps B. 4 amps C. NONE B3
T the three batteries of 12 Volts each s connected in pa
A. 36 Volts B. 24 Volts C. 12 Yolts >
T the three batteries of 5 Volts each i- connected in ser

40 amps
raliel, the net potential difference is

NONE

es, the net potential difference is |

Out of 100m cable of 100-pairs drop wire, 87.75m of cable nas been used. How much is ieft now fs

A

NS by taxi. How much time does he traveiled 7

.
B

C)

D]

C]

B]

A

c

When 8 amps of current passes through the load of 50 ohms, the potential difference across the load is.

24V battery connected tc a load of & ohms at constant temperature, the current passing through the load

and 5 amps of current is passed through the net

When two resistances of 10 ohms are connected in parallel and 4 amps of current is vassed through the net





46

a7

48

49

50

A. 15 Volts B. 5 Volts C. 3/5Volts  D. NONE
It a force ‘F applied to the surface area ‘A’, then the pressure ‘P’ is equal to .
A. P=F*A B. P=F/A C. P=F+A D. A/F
Thermo coal is
A. Superconductor B.Insuiator C.Semiconductor D. Conductor
Silicon is
A. Semiconductor B. Conductor C. Insulator D. Superconductor
Multimeter is used to measure.
A. Voltage, Current B. Voltage C. Resistance D. Power

and Resistance

Voltmeter is used to measure.

A. Current B. Resistance C. Potential Difference D. Pressure

SECTION-II : DEPARTMENTATL PRACTICES

51.

52.

53.

54.

55.

5.

57/,

58.

oY,

Which type ot exchanges exist in most of rural areas?

A. OCB B. S5ESS C. AXE D. C-DOT
The exchange which is not in BSNL telecom network.

A. IP TAX B. AXE C. Crossbar D. OCB
Answering condition of the customer i1s suppression of which tone?

A. Congestion tone B. Busy tone C. Ring back tone  D. Dial tone
What is the Ringing current tor subscriber telephone handset ¢

A. S0V DC B. 5V AC C. 10V DC 5. 75V AC

What is voltage current which flows during idle time in a home telephone connection.

A. 48V DC B. 5V DC C. 10V AC D, 220V AC

12V SMPS charger is tor which telephone instrument

A, HMT B. FW! . EPBT 3. None of these

Which ot the Plan instrument is having extension facility

A. Plan 103 B. Plan 104 C. Plan 101 D. Plan 102
Which type of instrument is not present in telecom network 7

A, MWT B. BPO-5000 C. FWT D. EPBT
Which pair of cable is used for ‘Leading-in" at the exchanges

A. 200 pair B. 2000 pair C. 500 pair 5. 50 pair

e T L e






o0, In a 800 palr pillar, the p'rimary 200 patr I1s terminated on

A. A-Shelt B. B-Shelf C. C-Shelt D. E-Sheif B

61. The connectivity between DP to LJ(Link Jack) Unit is called

A. Underground cable B. 50 pair C. Drop wire D. CFC i
0Z2. Which pair of cable is not used in telecom network ?

A. 25 pair B. 5 pair C. 20 pair D. 100 pair A
63. For a broadband connection, the device used to separate voice and data is called

e el e r e —— —— L — LIS LI TRLY

A. DP B. Pillar C. Splitter D. MDF ]

64. When underground cable is led directly to customer’s premises, the distribution point (DP) hecomes the

| terminating point and is known as

i - —

A. External DP B. Internal DP C. Rosette D. Splitter B
65. The system used for STD Call Monitoring at PCOs is
A, GEM-500 B. GEM-100 _. GQEM-1000 . GEM-2000 O

66. Vhich is Post payment type Coin Box telephcne meant for local calls ?

A. CBT-100 B. CBT-80 C. CBT-180 D. NONE B
67. Whatis the tool used for jumpering in MDF/pillar module ?

A. Rapping tool B. Crimping tool  C. Insertiontool [D. Soldering Iron 1C
68. The total number of pairs in 100 pair underground cable is.

A. 103 pairs B. 100 pairs C. 102 pairs 2. 101 pairs D]

69. The standard post for erecting DP is
A. AB,C B. ABC, C. A4BC D. ABC |C]

/0. At customer premises, the wire is terminated in the

A. Instrument B. POT head C. iU D. None of ]
insulator tnese

/1. Which of the following is not part of wiring 7

A. SSNP B. Stalk C. Insulator D. Drop wire accessories Al
72. Each Cell of Power Stack —VRLA battery is of

A. 5V B. 2V C. 12V D. 6V B
/3. All Power Stack batteries are rated to an end cell voltage of at all rate of discharge.

A. 1.75VPC B. 1.92 VPC C. 2.3 VPC D. 2.25 VPC |A]

/4. Which charging method is recommended for charging battery set ?

A. Floating Charge B. Equalizing Charge . Constant Voltage . NONE C]
Method Viethod Viethod
/5. Which of the record is not required for satisfactory battery performance ?

A. Individual Cell B. Indiviaual Ceil C. Battery Terminal D. Ampient A
Current Voltage Voltage Temperature
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87,
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39.

90.

. Earthings at the exchange'can not be achieved by
A. Ring Earth B. Electronic earth C. Copper plate earth D. Coil Earth
The exchange D.C earth value should be iess than ]
A. 0.5 ohms B. 2 ohms C. 4 chms D. 1 ohm
Junior Telecom Officer(JTO) is the cadre of
A. Group ‘A’ B. Group ‘B’ C. Group D 0. Group
Junior Account Officer(JAO) is the cadre of
A. Group B’ B. Group ‘A’ C. Group ‘D’ D. Group ‘T
The Immediate Controlling Officer of the TTA is
A. DGM B. SDE C. ITO D. DE
Which tester is used by line staff for safety from power hazards?
B. Neon tester B. Power tester C. Muitimeter L. Geo tester
Which type of extinguisher s are not used in the department ?
A. Soda Acid type B. Coolanttype  C. CO, type D. Foam tyne
Broadband is based on which access technology.
A. ADSL B. GPON C. WiMax D. GSV

FTTH stands for.

A. Fibre To Telecom B. First To Transmit  C. Fibre To The D. NONEF

Hub Haltway Home

Which tool is used to make Ethernet cable ?

A. Crimping tool B. Insertion tool C. Diagnostic tool

The signal in OF Cable is transmitted in the form of

A. Light B. Sound C. Thermal Wave

OF Cable works on the principle of

A. Total internal B. Total internal C. Total internal
Conduction Reflection Refraction

The standard length of OF Cable in one OF cable drum is

A. 2000m B. 5000m C. 1000m

The power plant in all major exchanges are supplied with

A. 3 phase B. Single phase C. 3 nhase
1100V AC supply 440V AC supply 440V AC supply

Exchange supply 48V D.Cis derived by connecting the 2V cells in

A. Series B. Paraliel C. Both Paralle]
and Series

. OTDR tool

D. Radio Wave

D. Total Internal
nsulation

L. 4000m

D. 3 phase
240V AC supply

. None of
these





J91. The underground cable between telephone exchange and pillar is called

A. Secondary B. Primary C. Tertiary D. Distribution
92. The set capacity of UPS power backup is noted as

A. Voltage B. Ampere C. KVA D. Ampere Hour
93. The meter used for testing OF Cable fault is cailed

A. OTDR B. Splicing tool C. Digital Analyzer L. Barometer
24. The tool used to join the breakage/da mage in OF cable is called

A. Ripping tool B. OTDR C. Crimping too! 2. Spiicing too!
95. The Optical systems which work using OF Cables is called

A. GSM B. SDH C. Modem D. DSL
J6. The information transported by equipments using different coiour lights at same time is called

A. SDH B. SONET C. Ethernet D. DWDM

97. 3G Network used in India is based on which technology ?

A. CDMA B. GSM C. W-CDMA ). Ethernet
98. The 2G radio equipment used for mobile subscribers in India is called

A. BTS B. BSC C. MSC D. HLR
99. The radio equipment used for 3G subscribers is called .

A. RNC 3. Node B C. HLR D. MSC
100. FTTH connection given to the customers is based or which technology.

A. GSM B. Ethernet C. PCM D. GPON

F b
A

D]






